Systematic approach to problem solving
[bookmark: _GoBack]Problem
A storage unit is in the shape of a hemisphere on top of a cylinder. The surface of the storage unit is to be painted. Calculate the area to be painted.
[image: An upright cylinder with a half sphere on top. The radius of the cylinder is 5 metres, and the height of the cylinder is 8 metres.]
Data
r: radius of cylinder and hemisphere = 5
h: height of cylinder = 8

Algorithm
To find the surface area of the hemisphere, first find the surface area of a sphere.
Surface area of sphere = 4πr2
Surface area of hemisphere = surface area of sphere / 2
Next, find the surface area of the cylinder. Remember, only the curved surface is being painted so do not include the lid and base in the formula!
Surface area of cylinder (curved surface) = 2πrh
Add the surface area of the hemisphere to the surface area of the cylinder.

image1.gif
sm




